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asym_bcm_an_us (ppb) 1D pull distribution
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asym_bcm_an_ds3 (ppb) 1D pull distribution
= X2 [ ndf 8.838/49
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asym_bcm_dg_us (ppb)
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1D pull distribution
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1D pull distribution
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diff_bpm4eX (nm)
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diff_bpm4eY (nm) 1D pull distribution

X? I ndf 53.94 / 49
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diff_bpm11X (nm)
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diff_bpm12X (nm) 1D pull distribution

X2 / ndf 49.14/ 49

C _ Mean 0.022 +0.1402
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asym_usl (ppb)

X2 7 ndf 52.2/ 49
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asym_usr (ppb)
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asym_us_dd (ppb)
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asym_dsr (ppb)
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asym_ds_dd (ppb) 1D pull distribution
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1D pull distribution

-0.02675 +0.1533
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1D pull distribution
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1D pull distribution

_ Mean -0.0301+ 0.1523
I J Std Dev 1.077 +0.1077
10 Underflow 0
Overflow 0
o X2/ ndf 5.86/7
8 —
| Constant 9.902 +1.918
B —[ ] Mean  -0.07303 +0.16167
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